T-test for family completion of activity

Completion of activity Mean t-statistic
Yes 7.254 t=1.254
Partially 6.500

Note. p<.05*, p<.01**, p<.001***, N=66

My independent variable states “did your family complete the activity” my two variables were yes
or partially. My dependent variable is family involvement. The mean family involvement score for
yes is 7.254 out of 10 and partially was 6.500 out of 10. My t-test value was 1.254 which means

it is not significant. Therefore completion is not significantly different for these two groups.



